Ionic Equilibrium FAQ 2
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Which sequence represents the solutions in increasing order of their pH?
(Given' K of ethanoic acid is 175 x 10%)

CH:COONa GH:COOH
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Solution W: HC! is a strong acid which completely dissociate. However. the contribution of H™
from H;0 cannot be ignored.

[HJowm = 10%+ 107 = 1.1 x 107 mol dm™

pH=-log (1.1 x 107)=6.95

Solution X: CH;COONGa is a basic salt which hydrolyses to give OH'.

107/1.75x107°) x (107) = 7.56 x 107 mol dm™

[0H] = JE, x [sal]
POH=6.12
pH=788

Solution Y: CH:COOH is a weak acid which dissociate partially.
[H]= K, ¥[acid] =
pH=538

Increasing order of pH: Y . W . X

.75x107 x(107%) = 4.18 x 10 mol dm™
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